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Riemann-Lebesque lemma
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· That is why the shift worked We went picking up

the contribution from the region of the sinIcos with the

opposite sign.
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9) Forrier transform of the Colomb potential .

The Colomb potential Ve(*) = & is a special case

of Ve() -MVo called Yukawa potential
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Amplitude for potential Well

f(() 2 (AURCOS(DUR) - SirCARR)
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DK
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for DKRX1 many oscillation and change of sign !

Cross section will have many Zeroes .



Scattering theory ,
Boch approximation
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With this parametere
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When you don't resolve the detail (not high enery

enough , "any model" is fine
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Total 220ss section an optical theoreve
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